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SA KA R
B QeI oY ¥ =2
SRl K ol & S2XE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
KA TH 10 143,297,234 112,417,062 30,880,172
= 697,600
[ 69,642,000
= 39,957,634
H 33,000,000
A oY R =X 107,816,800 83,230,648 24,586,152
= 697,600
[ 69,642,000
= 37,477,200
A oy & S2X3 107,816,800 83,230,648 24,586,152
= 697,600
= 69,642,000
[ 37,477,200
THoH A XA EBI (A2 A=) 103,225,500 80,484,000 22,741,500
[ 68,817,000
= 34,408,500
403 AXIEHHSAH=Z01d 103,225,500 80,484,000 22,741,500
[ 68,817,000
= 34,408,500
01 MXISHHA =2 103,225,500 80,484,000 22,741,500
OXSH A IHE X7 FHIALS 62,001,000
= 41,334,000
S 20,667,000
O3 ol 42 SSIHIA 34,200,000
= 22,800,000
< 11,400,000
O M +=Al HHIA 4,758,000
[ 3,172,000
= 1,586,000
OSZAH SUASX S SHIAY 2,266,500
s 1,511,000
== 755,500
oA XA EHBI(&) 1,650,000 600,000 1,050,000
[ 825,000
= 825,000
307 @120l & 450,000 0 450,000
[ 225,000
= 225,000
02 LB HANHEE 450,000 0 450,000
OSZ ALl AEHZA} 450,000
= 225,000
S 225,000
401 Al HIZ 2018 1,200,000 600,000 600,000
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s 600,000
S 600,000
01 A=l 1,200,000 600,000 600,000
O=ZAK SU/AS XS ZHIALY 200,000
= 100,000
= 100,000
OXSA AL XIF FHIALS 1,000,000
[ 500,000
= 500,000
S3AEE WHEH 837,000 837,000 0
401 Al HIZL S 0HYI 837,000 837,000
01 Al&H| 837,000 837,000
OSSAE= HA2H 837,000
HetEsd =8 11,100 13,600 A2,500
308 AtXIEMSOIH 11,100 11,050 50
01 MRHHBAEES 11,100 11,050 50
OXMtNSEH =& 11,100
ALt &3 XA 287,000 163,000 124,000
201 2= 12,000 19,000 A7,000
01 AFS2t2ltl 6,000 6,000 0
Ok =g Meags 234l 6,000
03 A2 ZHI 6,000 13,000 A7,000
OXESYME d&dst u=x 6,000
308 AHXIEMSOIH 180,000 144,000 36,000
01 HRSHH B EES 180,000 144,000 36,000
OAlZ =228 2SN S 150,000
O JIs2d s gda X 30,000
403 THAIEMS =01 95,000 95,000
01 XM =2 E 95,000 95,000
OAlZ HE2ME JIs2d S 95,000
ANAMHAS =& 43,300 35,793 7,507
201 L2 39,700 33,228 6,472
01 AtR2te|b] 36,700 30,228 6,472
OMoitign=Atz oI2f & clZ MH S 6,000
OMogeE It 2Ids =& S 16,700
OMHUAISE EH S M B&E X2+E 7,500
OMt2te|Eot 2Ide =8 S 6,500
02 3224l 3,000 3,000 0
Og Mg altl 3,000
203 gR=8| 3,600 2,565 1,035
03 Al F=AIH 2= 3,600 2,565 1,035
OXA T R 3,600
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el e ol 2 S2AIE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 12,000
H2d FAACZ NS AHAE EXIAE 375,000 150,000 225,000
= 375,000
403 MR HHMSAHE01H 375,000 150,000 225,000
= 375,000
01 AXISHHA=2EE 375,000 150,000 225,000
O&+2d HAT=Z NS IHAIE XA
& 375,000
= 375,000
Y| 115,000 5,000 110,000
403 TR M SAH=01H 115,000 5,000 110,000
01 AR A =2 £ 115,000 5,000 110,000
ZEMZAE £X 100,000
ORCAEH EXSA 15,000
UAARS HAI2Z K2 A 97,800 0 97,800
= 97,800
403 X SHHMSAH=01H 97,800 0 97,800
= 97,800
01 MXIHHA 22X 97,800 0 97,800
ogiztA=z A2 X2 A 97,800
= 97,800
MAEESHAIAE 29 12,000 50,600 38,600
HHEESAAAR AL 7= & 2 12,000 50,600 /38,600
MHHEESAAIAY 22| 12,000 37,000 /25,000
201 Eer23 | 12,000 12,000 0
2 352484l 12,000 12,000 0
OMHEESA &l & e |l 12,000
HPE S (XS THE D 35,391,054 29,061,654 6,329,400
== 2,391,004
H 33,000,000
SEXS (AT 1,550,400 216,000 1,334,400
e (Sat=8l2 1g3) OIX4e 1,550,400 216,000 1,334,400
311 XS0l Rratg 1,550,400 216,000 1,334,400
02 Sa=8I|1 2SO0l Atate 1,550,400 216,000 1,334,400
OMoiIg X+ &bl X2 Ol Xtaret 384,000
ONeli=t=ols & N OlAt&t et 388,800
OoNt2eDls & N2 OlAra & 777,600
WHEHRHKI = (KHATH 1) 33,840,654 28,845,654 4,995,000
< 840,654
H 33,000,000
HE= S WRHH 195,654 195,654 0
705 D=3 334 195,654 195,654 0
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AHSA AN ot

M HRES (X T
2l WRHeH XIS (KA THH D (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 Al - =XISHL DS 0= 01 Rhatat 195,654 195,654 0
OMHAS X SHIAIY XIS
o 124,884
OZZ AN SUAE XS FUIArY XISoHe
JI= OlXr&tet 63,770
OSSAIE=2 WA2ZAE XSHEDI= 0
INESEE, 7,000
MHol=0l= dES 11,215,000 9,550,000 1,665,000
= 215,000
H 11,000,000
(VI TSE= 11,215,000 9,550,000 1,665,000
S 215,000
H 11,000,000
01 JIsdEsS 11,215,000 9,550,000 1,665,000
OMai7=201= 8= 11,215,000
== 215,000
H 11,000,000
MHet2eDls d&Es 22,430,000 19,100,000 3,330,000
= 430,000
H 22,000,000
(VAP TSE= 22,430,000 19,100,000 3,330,000
= 430,000
H 22,000,000
0 JIsdEsS 22,430,000 19,100,000 3,330,000
Oont2els 8= 22,430,000
= 430,000
H 22,000,000
HY2AHHI(XSI D) 77,380 74,160 3,220
228 (RFATHE D 77,380 74,160 3,220
J122HI (XS TH D 77,380 74,160 3,220
201 er2 3| 36,800 35,190 1,610
01 AtR2telHl 36,800 35,190 1,610
OXNt =N 36,800
202 04| 36,800 35,190 1,610
01 2K 36,800 35,190 1,610
OXtATHL HRF 36,800
203 g4l 3,780 3,780
M EA2ZLRFT 3,780 3,780
OXHeA TH =tk 3,780




